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Booklet. '
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16U/101/15 Set No. 1

No. of Questions /Wi ) 4&4T ; 150
Time/Q09 : 2% Hours/q"? Full Marks/t[tlﬁai : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

HfFMd TH W ' FA F TS W) Wl gy 3 s ¥ 2 g
TR IR % R oiw w0 IAE St W ow awiw
T

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

I T AHRE Iw W W F eyl @, @ P @@ I
gl
1. The total number of Stock Exchanges in India is
Wia # g9 @y faultel § gen 2

=
(1) 20 (2) 2 (3) 22 (4 23
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2. On dissolution of a firm, all the as'sets are transferred to Realisation Account at
their

(1) written value
(2) market value
(3) book value

(4) cost or market value whichever is less

wﬁ%wm,wamﬁﬁa@ﬂ@ﬁigwiaﬂaﬁm%'

(1) 3ifFa g W (2) TR & W

(3) T@® Jed W (4)amammqasﬁiﬂm€|
3. SEBI was established in

¥ A wen w9 g AP
(1) 1988 (2) 1998 (3) 1992 (4) 2002

4. In India NIFTY and SENSEX are calculated on the basis of
(1) market capitalisation (2) paid-up capital

(3) free-float market capitalisation  (4) authorised share capital

mﬁﬁmﬂmﬁﬂmaﬁmmmmmm

) g‘ﬁ—ﬂﬁﬂmw (@) i 3 Y
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5. The financial instrument with shortest maturity period is
(1) call money (2) certificate of deposit
(3) commercial bill (4) treasury bill

w8 ¥9 wfuwm Efy aen e Ivaw - 27
) s gz (2) 5 WM-T  (3) dIvifE faE (4) gIm

6. Commercial banks or Development banks issue this document
(1) commercial bill (2) treasury bill
(3) certificate of deposit (4) commercial paper

R &5 a1 R &6 F-T AfEE w0 F@ E7
(1) o= fm (o) mI R (3) I ym-ux  (4) IR 9w

7. When shares are issued at premium, premium amount may be utilized for
(1} issue of bonus shares (2) payment of dividend
(3) payment of operating expenses (4) redemption of debentures
ﬁﬁﬁmﬁmﬁ%ﬁm,mﬁﬁ@wsﬂnﬁmmmg
(1) I i § frlm ¥g (2) ST TR ¥g
(3) & 2@l & YA ¥y (4) ¥t % fem ¥

8. Which one of the following is not the objectives of SER] ?
(1) Protection to the investors

(2) Control over brokers

(3) Protection to the industrialists
(4) Checking the insider trading

(171 3
(P.T.0)
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10.

11.

(171)

freeen & @ Fa-w ¥ =1 St T @7

(1) TR i g (2) gemet T T

(3) Jermafe i gem (4) e 2fén @ aF
Which one of the following is not a part of capital market?

(1) Gilt-edged market (2) Commercial paper market
(3) New issue market (4) Secondary capital market
frefofa § @ $H-T1 §oh IR F1 wm T R7

(1) &8 FRe{fY o (2) AMRF T TR

(3) T i SR (4) fodfrs st s

Which onc of the following is not a function of the new issue market?
(1) Origination of securities (2) Underwriting of securities
(3) Distribution of securities (4) Administration of securities

ffeifaa # @ AF-m 9 Feis aem F e T R
() et F1 T o) S
@) hefef =1 e (@) SR 1 ST

Listing of the securities on the Stock Exchanges does not help the company in
(1) raising funds

(2) curtailing underwriting costs

(3) widening the market of securities
4) guarantceing the soundness of securities

4
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g faufn # shwft % gder @ wd foa 3 @ el B aEEan T firerd 7
(1) N A TG J

(2) sfri =@ | B w §

(3) winffodt & a9R it foege & &

(4) it N gogm A yEmfy A A

12. The most important function of a Stock Exchange is to
(1) safeguard the interest of investors
(2) help in the capital formation in the country
(3) provides facilities for speculation
(4) provide a ready market for all securities
& & waffies weet & 2
(1) PRt f kg i wr ==
(2) a9 % gt Fmiv & weEme =@
(3) weamh & o gl wem won
(4) ®ft fofodi & fou dam sem

13. Which one of the following is not a party of depository system?

(1) The Depository Participant (2) The Investor

(3) The Broker (4) The Issuing Company

Frfofa 4 & #5 feoifvet gl o1 quer = 27

(1) feuiforeft widfintz (2) v

(3) = (4) AN HA Foq
(171) 5
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14. Which one of the following is not a method of floating new issues in the ‘Primary
Market’?

(1) Public issue by Prospectus (2) Offer for sale

(3) Making the contract '(4) Private placement
e § @ FR-m ‘mufs aen § T it & wada 6 fafy 7 27
(1) S grn grsfe s (2) fwa ¥ R wa™

(3) wefae (@) Fft eite

15. In which market, old shares are purchased and sold?

(1) Capital Market (2) Primary Market
(3) Secondary Market (4) Money Market

fo o & O s A GR T e A R
(1) It SR (2) sufi awm (3) fifte AR (4) TR ARW

16. Financial Statement Analysis does not include

(1) Trend Analysis (2) Fund Flow Analysis

(3) Cash Flow Analysis (4) Income Statement

ﬁmﬁamm%ﬂwgﬁ%aqﬁm%
(l)argﬁg—aw (2) P saTE faTeTu
6
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17.

ls.

19.

20.

(171)

16U/101/15 Set No. 1

Calculate operating profit ratio when net sales are € 20,00,000, gross profit is 20
percent and operating expenses ¥ 40,000

(1) 14 percent (2) 20 percent (3) 18 percent (4) 16 percent

Rarm @™ wguE H oA FIR s9 g et € 20,00,000, FFA AW 20% a9
wREH =@ T 40,000

(1) 14 e (2) 20 gfeww (3) 18 wfowm (4) 16 WRm

Claim not yet acknowledged as debt against the company, is called
(1) current liability (2) contingent liability
(3) provisions (4) reserve and surplus
Fon S h ww ot R o ¥ A R A R, Feom #
(1) 91 qF@ (2) a9 TRE@ (3) YEUH (4 T W I
Sale of fixed assets is to be shown under the head
(1) operating activities (2) financing activities
(3) investing activities (4) any other activitieg
wrfl afn i ot 9 A Wds & e Ramn @ 2
(1) aRerem wRfafy (2) faefig nfefafy
(3) Fam wiafafe (4) 3 TRy
The expenses related to the main operations of the business are
(1) selling expenses - :

| (2) administratiye eXpenses
(3) operating expenses (4) non-administ.,.:

7
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21.

22.

HEEE & T 9o 8§ gEfie o9 #ean §

(1) fasht =57 (2) FeTafE =

(3) HareH =4 (4) M-yerati® =73

A Financial Statement that sl:lows both rupees and percentages in the report is
referred to as

(1) a Common Size Statement

(2) a Relative Statement of Equity
(3) a Balance Sheet

(4) a Proportional Financial Statement

T Y fdtn o SR qo wiew @1 @ yREe § gula R, weam @ W
(1) O ER R (2) W9 W "R fEo
(3) Infde fag (4) gufos forfg faamo

Net Working Capital is

(1) current liabilities less current assets

(2) marketable securities and cash

(3) the excess of current assets over current liabilitjcs

(4) total assets less current assets

g wHde g5 2
() e e — T



23.

24.

25.

26.

(171)
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While preparing Cash Flow Statement, ‘cash and cash equivalents’ consist of
assets which can be converted into cash within

(1) 2 months {2) 4 months (3) 3 months (4) 6 months

e yare fyaw fmin $ e W@ e g’ 3 el § 9o F A
sy # ofafda B s wwdt 27

(1) 2 %R 2 471 (3 3 =R (4) 6 7@

The ratio which provide information regarding the long-run operation of the
business is

(1) activity (2) solvency (3) ﬁroﬁtability (4) liquidity
W#iﬁmm#m@mﬁnaﬁmﬂmﬁﬂ%

(1) wfafafy . (2) M9-gw (3) wmerEEal (4) aTa

Amount set aside to meet the losses due to bad debt js a

(1) provision (2) reserve (3) liability (4) fund
T W F ol b R e W aeh o2
(1) J&gH (2) g9 (3) afa @) Hy

The cost of goods sold is % 10,00,000, Opening stocks ¥ 80
t 1,20,000. Calculate inventory turnover ratio

(1} 40 times (2) 10 times (3) 30 times (4) 20 times

ﬁ%@mﬁmtloooommﬁﬁmmﬁmr A
H ¥ ] 80,0
€ 1,20,000. =9 3 sum it Ry SR %, Tferar

(1) 40 1 (2) 10 91 (3) 30 T 4 20 T

(P.T.0)
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27. Accrued incomes are shown under

(1) inventories (2) investment

(3) other current assets (4) current investment
IR sma feerd s 2

(1) &g (2) Faw

(3) 3 e, Wt (4) =

28. Discount on issue of shares and debentures is

(1) fictitious assets (2) current assets

(3) current liabilities (4) miscellaneous expenditures
frife ol W@ wowE W RS R

(1) @A weRw (2) =Te] Tt

(3) a@aﬁa' (4) fafea =

20. In Balance Sheet, assets are shown in the order of

(1) permanence (2) liquidity (3) market value (4) None of these

mﬁhﬁ%ﬁmﬁlﬂﬁﬁﬁﬂﬁaﬁiﬁwﬁ%

mwﬁamﬁﬁ (2) T F W

(3)WWWﬁ (@) v ¥ =g T

10
(171)



30.

31.

32.

(171)
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In a business, Cash sales are ¥ 7,20,000, Credit sales are T 80,000, Cost of
goods sold is T 6,00,000. Find Gross Profit Ratio

(1) 15 percent {2) 65 percent (3) 25 percent (4) 35 percent

T WS # F@g fa# T 7,20,000, 3R ff ¢ 80,000, T W W@ A wvm
€ 6,00,000 B, & T AV UM WA A

(1) 15 yiowrd (2) 65 Wi (3) 25 whrem (4) 35 wfowma

Marginal utility is equal to

'( 1) total utility minus average utility

(2) -addition to total utility

(3) total utility divided by the number of units.consumed
(4) total utility plus average utility

dmra ITfran st B @

(1) Fo IWFra — e o

(2) $o IR & gy

(3) TG I WM a5g I I A T Al
(4) $ Ifr + stea IwEf

The second glass of water generally gives less utility to a thi ;
rs
happen because of ty person. This

(1) law of diminishing marginal utility
(2) law of diminishing returns

(3) law of equi-marginal utility

(4) law of demand

11
(P.T.0)
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T W e ) q@ M w1 O e B I SeE s ) T
FO g R |

(1) ShHFTA ITAIRIOT ™ HaH & ARl
(2) UG SfeA s P & Hw
(3) Tu-dwra Iwer Frm &
(4) ot ¥ fram ¥ Fw

33. Demand curve for a Giffen Good will be
(1) horizontal (2) vertical
(3) slopping downward to the right (4) slopping upward to the right
e g & win @ € '

(1) &fa | (2) S
(3) <Rt it Fam T (4) TR 3T 3FA B

34. A consumer is in equilibrium, when his budget line is

(1) above the indifference curve
(2) below the indifference curve

(3) tangent to the indifference curve
(4) cut the indifference curve
@Wﬁﬁﬂﬁﬁﬁﬂ%ﬁﬁﬁmw

mama%ﬁﬂ'éﬁﬁ% (z)mwaﬁﬁﬁg‘ﬁﬁg

(S)Waa;qﬁ;qﬂfmﬁ% (4) dT TH W FEA

12
(171)
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35. For an inferior good, income elasticity of demand is

(1) negative (2) positive (3) zero (4} infinity
T B A B g F R, a0 H o e A
(1) R (2) 9ATcH® (3) Y4 (4) <

36. Average product is maximum when
(1) marginal product is greater than the average produét
(2) marginal product is less than the average product
(3} marginal product is equal to the average product
(4) marginal product is negative
MW I wEifeE g & v
(1) ¥ I sttma 3ag @ it By 2
(2) Hiwra Jeg e WK 4 w9 g 2
(3) ¥R Imrg ShEw S % aUe o 2
(4) dar 3 FomeTE g #

37. With increase in output, which cost increases continuously?
(1) Average cost (2) Marginal cost (3) Fixed cost (4) Variable cost
3T A g F wy F- A Em wgdh 2
(1) 3ftea &7 (2) dw= AP (3) fBR @@ (4) oo s

(171) 13
(P.T.0,
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38. Which of the following curves is not U-shaped?
(1) Average fixed cost curve (2) Average variable cost curve
(3) Average total cost curve i (4) Marginal cost curve
fm & @ S-7 9% U-3FR &1 T8 qa R7?
(1) 3tga R @G I% (2) 3Nga tRadwfie &ra a%
(3) T F& 9@ TF (4) dmra AR T

39. The demand curve of a firm under a perfectly competitive market will be
(1) vertical (2) horizontal

(3) negatively slopped (4) positively slopped
ol ufeeift aem & v wf @ wfn @ @

(1) Ser (2) &fost

(3) FICHF FTE AT (4) TwRTEH I A

40. The concept of selling cost was propounded by

(1) Alfred Marshall (2) Edward Chamberlain
(3) Joan Robinson (4) A. C. Pigou

faga e 1 Yead faurfed feR oo

(1) ¥H "EE g (2) TEaE WmfeH g

(3) i U 0 (4) To Hio 1 g

(171) 1
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41. Ordinal measure of utility is required in

(1) Utility Analysis (2) Demand Curve Analysis

{3) Indifference Curve Analysis (4) Revealed Preference Analysis
I & FH GEH TN H AERenal @

(1) Ifan fowdm A (2) ot 7% faveaw §

(3) weee T foverewr § (4) T T fvdrwo &

42. Under monopolistic competition, a seller gains abnormal profit when

Tyl s & srla o fgm | sEm oM TW €@ ], S
(I} MR = MC (2) AR = AC (3) AR > AC (4) AR < AC

43. According to Marshall, the law of diminishing returns applies on
(1) agriculture (2) industry
(3) neither agriculture nor industry (4) agriculture and industry both

TRie % IR, It B Ram an da 2

(1) FN F (2) I §
(3) A FN I @ 3w A (4) PN AR 3@ 2 §
44. According to Keynesian theory of employment, employment depends on
{1) aggregate demand (2) aggregaté supply
(3) effective demand (4) auantity of Mmoney
(171) 15

(P.T.0,)
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45.

47.

(171)

F & TR g % sgar, dem Aol w2

(1) g9 Afn @ (2) T g w

(3) yWHEIAEH HM W (4) gz $ A W

On which date the Rail Budget for 2016-17 was presented in Parliament?
(1) 25th February, 2016 (2) 27th February, 2016

(3) 28th February, 2016 (4) 29th February, 2016

foe fofy @ ad 2016-17 &1 10 a9 g@e § Qw fm w7

(1) 25 w&d, 2016 @i (2) 27 w&H, 2016 H

(3) 28 wafl, 2016 =t (4) 29 ®@&d, 2016 @

A sole proprietor decided to use the business bank account also for his personal
affairs. Which of the following accounting principles is violated?

(1) Going concern (2) Consistency

(3) Entity (4) Dual aspect
Wwﬁw%%aﬁaﬁmmmﬁsﬁmﬂm%mﬁﬁa
2| e dar g 1 SgT @ W R?

(1) o E™ (2) THEE (3) fwred (4) fowee
If a trader’s sales amount to ¥ 18,000 and his gross profit and net profit are 60%
and 40% of sales respectively, then his expenses are |

IR T w e 18,000 3 3EH wH @ T g aW fEa FowE
6% T 40% 1§, At 35 T &

(1) T 7,200 (2) T 2,500 (3) T 3,600 (4) T 2,600

16



48.

49.

(171
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Which one of the following is correct?

(1) Gross profit + Sales + Direct expenses + Purchases + Closing stock =
Opening stock

(2) Gross profit + Direct expenses + Purchases + Closing stock — Opening stock
= Sales

(3) Gross profit + Direct expenses + Purchases + Opening stock - Closing stock
= Sales

(4) Gross profit + Direct expenses + Purchases + Opening stock + Sales =
Closing stock

Fefofgd 3 & f9-a1 @d@ 27

(1) TFa @ + T + Yoo =@ + $9 + W TR = TR W
(2) % 9N + TA¥ AT + FT + J0 B - wmiem wlia = Reg
(3) TFE 9 + YIN =T + HY + WOE @ew — 3fF whm = fes
(4) ¥FT A + Y9 9T + B + IO @ha + e = af@m wha

Outstanding expenses appearing in Trial Balance will be shown on
(1) Debit side of Profit & Loss Account

(2} Debit side of Trading Account

(3) Liabilities side of Balance Sheet

(4) Assets side of Balance Sheet

92 & U 3w =@ awiar s

(1) o R % e 95 § (2) FR G F Mz gy 3
(3) s R ¥ afim vy & (ﬂmﬁhﬁg*mﬁwﬁ

17
(P.T.0)
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50.

51.

52.

53. Income & Expenditu

Goods of the value of ¥ 500 withdrawn by the owner of the business for personal
use should be credited to

(1) Drawing A/c (2) Sales Afc (3) Owner’s A/c (4) Purchase A/c

SR % @t g @ F IEm ¥ R € 500 ¥ 4ed ¥ W H AR @ Feed
w %fge w1 =i

mmam (2) fosra @ (3) @rft # @ (4) FE Tr

A and B are partners sharing profits and losses in the ratioof 3: 2. C is adtpitted
with 1 share in the profit. What will be the new profit-loss sharing ratio?

Adn B wd & 3:2 % omum § em-gfy st & c o d L owm & R
FRER SR S B eM-gi St @1 T SFUd 1 g

(1) 3:2:3 - (2) 6:4:5 (3) 6:4:3 (4) 3:2:5

In the event of death of a partner, the accumulated profits and losses are shared
Ly the partners in their

(1) old profit sharing ratio - (2) new profit sharing ratio

(3) capital ratio (4) equally
M@mﬁﬁﬁmﬁ,éﬁmwmﬁﬁwmmﬁ%m
T IUE § g

(1) g T T S (2) 7 T T S

(3) st g (4) SOH-STR

re Account is a

2) Nominal Account
(1) Real Account (2) N

4) Statement
sonal Account )

(3) Per
18
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54.

55.

56.

(171)

16U/101/1S Set No. 1

IR IR g W
(1) amafes d@ (2) il dar  (3) IRFE A (4) fmm

Under Annuity Method, the amount of depreciation

(1) fixed for-all the years (2) increases every year
(3) decreases every year {4) None of these

% o vgh ¥ st g B TR

(1) ®h =6 % e w T (2) sfrad aedt

(3) wfoad weet @ (4 ¥ | B =8

X Co. Ltd. forfeited 20 shares of ¥ 10 each on which T 5 per share were paid up.
The company issued these shares @ X 8 as fully paid up. Amount transfer to
capital reserve will be

(1) T 40 (2) T 60 (3) t 20 (4) T 100
All adjustment entries in Final A/cs are written at two placeg
(1) Trading Account and Balance Sheet

(2) Profit & Loss Account and Balance Sheet

(3) Trading Account and Profit & Loss Account

(4) Trading or Profit & Loss Account and Balance Sheet

19 '
(PT.0,
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87.

58.

(171)

T FEEel W wm @R wR e @ e foen S
(1) =R @ 7o s fg o

(2) TM-g @R aun anflw g A

(3) SN @@ qA AN-TH G A

(@) R @ A =g En a7

Profit on cancellation of own debentures is transferred to
(1) General Reserve

(2) Capital Reserve

(3) Secret Reserve

(4) Profit & Loss Appropriation Account

mﬁmmﬁ%ﬁt&ﬁwmmmaﬂaﬁmm%

(1) EWF 6 (2) qsht &=
(3) TH &1 (4) A~ fAiree ST

Interest on drawings is

(1) an expenditure for business (2) a gain for the business

(3) neither expenditure nor gain (4) expenditure and gain both

e WS
mm;ﬁ«maﬂ (2) =g * fere
(3)qa\mmaﬁmﬁ4 (4) = w@ Wiw 2

20



59.

60.

61.

(171)
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Del Credere Commission .is calculated on

(1) cash sales | (2) credit sales
(3) total sales (4) credit sales reduced by cash sales
vReg Fdm A A A o 2

(1) 7 fay w (2) 3 fpa w

(3) T g m (4) 39w fiwg § A e fwa =9 =

The use of FIFO method is suitable

(I) at rising prices (2) at falling prices

(3) at constant prices (4) at fluctuating prices

b ol w1 R i @ R

(1) $vm 3fg H R o (2) ot Fvm f ffy §

(3) R Fiwa 6 R 3§ (4) IM-TgE Fma H B F
Actual money refers to

(1) unit of currency (2) money of account

(3} commodity money (4) representative money
arafe® qg @ aread 2

HFRREE Q F@ham @) gy (4) TRRfy

21
(PT0)
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62. Monetary Standard refers to

{1) principal method of regulating the quantity of standard money
(2) principal method of regulating the exchange value of standard money

(3) principal method of regulating the quantity and the exchange value of
standard money

(4) principal method of regulating the purchasing power of standard money
TEHE & el R

(1) il gz i uen & A qe o

(2) ywivEs qg1 % fabeR e & e ge o

(3) wrftE gz A 9w e R g % P R ge o

(4) YR g B wAwle & Pam f qe yoned

63. NABARD has been established on the recommendation of

(1) Talwar Committee (2) Tandon Committee
(3) Narasimhan Committee (4) Shivaraman Committee
T £ T e TR W R R

(nﬁmﬁﬁ (2) &3 wffd mﬂmﬂﬁamﬁmmﬁﬁ

64. The relationship between value of money and general price-level is
(1) direct (2) indirect
(3) inverse relationship (4) proportional

22
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T ¥ g o oW FE WS @9 W S e ® 9 R

(1) T8 (2) IS

(3) faadm angufas @y (4) ST

65. Which of the following is considered as the Economic Evil of Money?
(1) Encouragement to borrowing
(2) Encouragement to overcapitalisation
(3) Encouragement to materialism
(4) Encouragement to borrowing and overcapitalisation
ffeiee & & F9-m gg = afils g oy w27
(1) 3R 30 F Meawe |
(2) AfA-YSi A WEA
(3) wiifterarg | earEd
(4) 3R 941 U1 Afd-Psfimm N s

66. Indian Rupee is

(1) standard money (2) token money

(3) standard token money (4} optional money

IR $1 |

(1) YR gz @ (2) Wihfow gey 3

(3) W WiHieE Tg1 (4) Moy oz R
(171) 23
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67. The prevalent name of Gold Currency Standard is
(1) Full Gold Standard (2) Gold Bullion Standard
{3} Gold Exchange Standard (4) Gold Parity Standard
ol T @ yefe AW R
(1) T oA (2) T YREN
(3) @t fafsmg 7= (4) @l FHal W
68. According to transaction approach, which of the following factors determine the
general price level?
(1) Quantity of money in circulation, its velocity and the volume of trade

(2) Volume of credit instrument and its velocity

(3) Quantity of money in circulation, volume of credit instrument and volume of
trade '

(4) (1) and (2) above
T faRa % omER, fratfee § A #N-w s e g Rl
FaT 27

uwmﬁwﬁmumﬁwﬁwwﬁwmwﬁ@ﬁﬁm

2) m—gmﬁmﬂ,ﬁﬁwqﬁ

(3)mﬁgaaﬁ|qm,m—gmﬁnmwm§aﬁnéﬁmﬁﬁ§aﬁﬁﬁm

@) I (1) @ @

(171) o
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To reduce the inflationary gap

(1) the amount of tax should be increased

(2) production of goods and services should be increased
(3) (1) and (2) above should be adopted

(4) Dear Credit Policy should be adopted

WiNs TR P I F R

(1) = | == § 3f3 weh wfo

2) g3t o Faredt & v # afy wh e

'(3) IR (1) 3k (2) B JTET TIfRE

(4) ¥eh W@ Ay AgTE e,

Which of the following is an asset for a bank?
(1} Capital (2) Reserve Fund

(3) Loans and Advances (4) Bills Payahle

9% % fo frefefes 3 3 -t sy 27

(1) (2) g+
(3) T A = 3w YmPr (4) ¥ faer

Of all the assets of a bank, the mogt non-profitable asset is

(1) buildings and furnitures (2) cash

(3) call money (4) buildings, furnitypeg and cagh
s

25
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% B o oheefe § @ o A 3 T ofEeE R
(1) FFH T HHIR (2) TG THA

(3) e qH | (4) WEM, G U1 TG A

72. Dead Stock of a bank is
(1) office, buildings and furnitures (2) money at call and short notice
(3) treasury bills _ (4) commercial bills
w ¥% W g4 &Y 2
(1) rater, w1 QU AR (2) T-gEAd TN
(3) Prmm faws (4) =mifi o

73. The issue of currency notes by the RBI is

(1) Proportional Reserve System  (2) Minimum Reserve System
3 Fixed Reserve System (4) Maximum Reserve System
el e 3% % e frim A g ®

(1) S w1 Igf | (2) FW e TG

(@) PR F P (4) e Y TG

74. Which of the following is not a quantitative method of credit control?

) Discount rate (2) Open market operations

3) yariable reserve ratio (4) Credit rationing
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rafafes § ¥ S9-ar wrg fao 6 ofomomers Bty T8 27

(1) FXft T (2) g sem R

(3) WRad ST - (4) @ it Tafm

Which of the following is used for International Monetary Transfer?

(1) RTGS (2) NEET (3) SWIFT (4) None of these
AR g1 WA & v Rewe Wi g 27

(1) AReASfowmo (2) THo3o3odto

(3) THoTR oI TR0 o | 4) ¥ } =g T

If Raj sells an iron for T 400 gaining ; of its CP, find the gain percent

:gmuamqaaﬁzgzwoﬁ%am%,a’rmmmw%mm%,m

(1) 20% (2) 50% (3) 25% (4) 75%

By selling 100 pens, Mohan gains the SP of 40 peiis. Find his gain percent

00 ¥ "
;:rgamo I mh%ﬁwmmmmélmmwﬁmm

(1) 40% (2) 663% (3) 333% (4) 443%

What price should Ratan mark on a fan which costs hj
! \n mark o s him
20% after allowing a discount of 10% 2 t 3,000, so as to gain

@ el A TR w i W R
10 3T H FAA 2 B W 20 T 3 o s | 00 T, P

(1) 5,000 (2) ® 6,000 (3) 3,600 "
4,000

27
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79.

80.

81.

82.

Ravi and Karti borrowed T 3,500 and T 4,000 respectively at the same rate of
interest for 24 years. If Karti paid ¥ 150 more than Ravi, find the rate of interest

(1) 12% p.a. (2) 14% p.a. (3) 11% p.a. (4) 10% p.a.

M ok 1 ¥ F9: € 3,500 3 T 4,000 FAH =S R W 2} T F fow 3um
for AR R 3 0¥ @ € 150 e gER B, SN R @ AR

(1) 12% Sfd  (2) 14% Shed  (3) 11% SRed () 10% sferad

A certain sum of money amounts to ¥ 1,260 in 2 years and to ¥ 1,350 in 5 years.
Find the rate of interest

w e 2 w8 # € 1,260 @ 9w R of 5 € F € 1,350 A w1 F X
@ Fifr

(1) 3-5% (2) 2:5% @) 4% @) 2%

Sudhir and Karim together can complete a work in 15 days. If Sl..ldhir is th?‘ee
times as good a workman as Karim, in how many days will Sudhir alone finish

the work?
(1) 10 days (2 25 days (3) 20 days (4) 15 days

gﬁ’ﬁ&i\liﬁﬂq@mﬁﬁwwﬁﬂﬁwﬁmgwﬁ@mm%m

ﬁmamwaﬁmmﬁ,agmaﬁmﬁﬁmﬁ&ﬁﬁwwam
(1) 10 f& (2) 25 faA @ 20 f@ @ 15 &R

175 metres long train crosses & 185 metres long tunnel in 45 sec. Find speed
A

of the train int km/hr | .
iﬂlsstﬂaaﬁlgﬁaﬁ%'mﬁmm%téﬁzﬁnﬁ

@) 288 km/hr (3] 182 dem/br  (4) 8 km/hr
28
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Simplify
wE iy
5x+2_‘ 2x+95
4x-8 x2_-x-2
5x+9 2x+5 2x+3 Sx+3
{1) (2) (3) (4)
4x+4 4x -2 2x+4 4x -4
Simplify
T il _
4[a-6{a-2(3a-4a +3)}]
(1) 8a-122 {(2) 28a +114 (3) ~-68a -144 (4) -38a -124

A path of uniform width 3 cm runs around the outside of a square park of side
18 cm. Find the area of ‘the path '

@mﬁmwﬁﬁaﬁwmcm%,%mmaﬁaﬁTScmmaﬁ@ﬁ
I TR0 AT ) TR W %A yW SRR |

(1) 324 cm? (2) 476 cm? (3) 188 cm? (4) 252 cm?

Determine the area of a triangle whose sides are 5 Cm, 13 em and 12 ¢
W S Rt 9914 5 cm, 13 cm 3k 12 em ¥, W &% 1w Hifs
(1) 36 cm? (2) 30 cm? (3) 42 cm? (4) 38 cm?

(P.T.0)
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87.

88.

89.

90.

(171)

tAh copper wir.c w‘hen bent in the form of a square encloses an area of 121 cm?. If
e same wire is bent in the form of a circle, find the area of the circle

waﬁwm{aﬁ@aﬁ%mﬁﬁaw%,aﬂ121cm2wéaﬁw%|ﬂﬁ
T AR w W F A e TR, A A A q@ A

(1) 154 cm? (2) 134 cm? (3) 164 cm? (4) 124 cm?

Express as a positive power of three (3)

& (3) F oIS UE F ®1 A o6 A

(97Y)x(27)
(81) 2 x 3°

1 1 1 1
(1) 37 (2) 28 @) 36 (4) 3

A sum of money is divided among Dev and Deep in the ratio 5:13. If Deep’s
share is t 780, find the sum of money '

@uﬂrﬁliaaﬂtﬁvﬁsna%agmﬁfamﬁaﬁmw%lﬂﬁﬁqam%w
¢ 780 2, @ AUl A HIRA

(1) T 1,140 (2) T 1,260 (3) ¥ 1,090 (4) T 1,080

15 men can repair a road in 28 days, how long will 35 men take to do s0?

(1) 18 days (2) 12 days (3) 14 days (4) 16 days
15mwasﬁmzaﬁqﬁmm%,ﬂﬁm 35 aed F@ E, A
fen fem I

) 18 ) 12 f& (3) 14 f& @) 16 &
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In Windows Operating System, the type of file with the .mpeg extension
indicates

(I) audio (2) video (3) temporary (4) system
fameim afqifén fywn i .mpég extension ¥ fd W@ 6t T T@ T@ar 27
(1) rifen 2) fafsm (3) 2wl 4) Rem

The quality of printer is measured by which unit?
i/ # e few T § T 22
(1) CPI (2) MPI (3) RTI (4) DPI

Which was the most popular first generation computer?

ﬁw-ﬁﬁaﬂqm@wﬁammwm?
(1) IBM 1650  (2) IBM 360 (3) IBM 1130 (4) IBM 2700

Which will not harm a computer system?

(1} Firewall (2} Virus (3) Trojan Horse (4) Worms
foft Tz el A v g T ww
(1) HEER (2) IE (3) T =wd 4) 38

Which type of printer uses ‘ribbon’?
(1) Laser Printer (2) Plotter

(3) Inkjet Printer (4) Dot Matrix Printe,

31
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o o' & B § ‘faa’ =1y g R7
(1) aw =R (2) R
(3) e B (4)3-?3_&@3;{&;{

96. To join the Internet, the computer is connected to

(1) Internet Architecture Board ~  (2) Internet Society
(3) Internet Service Provider (4) Cyber Police
Tz A T% O ¥ Rl w@ & e gl R
(1) T s A (2) T AR
(3) FeEIR WidH st (4) W gfm
97. CPU stands for
(1) Cool Processing Unit (2) Computer Processing Unit
(3) Central Processing Unit (4) Central Processing United
CPU 1 M Bl B
(1) g Safem e (2) Free Srafdm g
(3) d%A rafim e (4) m Al qEes

98. DTP stands 0T
(1) Data publishing (2) Data Printing

(3) Destop printing (4) Desktop Publishing
| 32
(171)
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DTP % 3w B &

(1) verofeim (o) T B (3) dem BN (4) dewew ufRm

Which one of the following does general calculations for CPU ?

(1) ALU (2) Bus (3) DIMM (4) Control Unit
(1) T (2) %8 @) osmiomomo (4) w9 e
LAN stands for
(1) Local Area Network (2) Live Area Network
(3] Lost Area Network (4) Long Area Network
LAN &1 3mvm R
(1) v o Youh @) @ e Yo
(3) SR i Jz=d (4) @i ofan Yead
Linux is a
(1) database: | 2) eraphics .
(3) operating system (4) animation software
o R
(1) Serw @ i
(3) afen freew Y TR g
33
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102.

103.

104.

Which one is not an example of computer hardware?

(1) MS-Word (2) Mouse (3) Printer (4) Monitor

frr @ wh F T W s T 2
(1) Wowgo-a8  (2) WA (3) Bt (4) WHX

To communicate live through Internet, which one is used?

(1) Talk (2) Chat (3) Email (4) FTP
mﬁwmmm#mmmmmaf
(1) o (2) ¥ (3) (4) Thodtodo

Which of the following is an example of Bluetooth?
(1) Personal Area Network (2) Local Arca Network

(3) Virtual Private Network (4) Wide Area Network

ﬂgs:ﬁnﬁﬂmwmﬂi?
(1) T TR A . (2) S T AT
(3) e W I (4) ares e Ao

105. Size of IPv6 address is

{Pv6 address 1 T af R

(1) 32 bits (2) 64 bits (3) 128 bits (4) 265 bits

34
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106. ‘Theory of Exception’ was propounded by

(1) Henry Fayol (2) Theo Haiman
(3) F. W. Taylor {(4) Herbinson and Mayers
‘Syare @ g ¥ yfaues @
(1) &0 ¥= (2) P ¥
(3) Tho T&Fo TN (4) T @ A

107. Selection of best option among available different options is called
(1) planning (2) organisation
(3) decision making {4) controlling
Syerey fafie fosedt 3 @ walvn frees #1 g9 wen weam @
(1) Fatse (2) "1 (3) foim (4) fam

108. Which is the right sequence of management functions?
(1) Planning, Staffing, Organising, Directing, Motivating and Controlling
() Planning, Organising, Staffing, Motivating, Directing and Controlling
(3) Planning, Organising, Staffing, Directing, Motivating and Controlling
(4) Planning, Staffing, Organising, Motivating, Directing and Controlling

(1) P, wefbn, wrem, Adw, s qn fm
(2) e, wes, wiftn, g, P o R
(3) FRIeA, FeA, =it ¥, wfvor qur e
(4) Fasm, =fén, smes, IR, Pleg g fr

(173) 35
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109. Find the odd from the following
(1) speed boss (2) repairs boss
(3) disciplinarian (4) inspector
frffar # 4w B 5= AR o
(1) fa T (2) WO TEE  (3) SFUEATEL  (4) frfiers

110. ‘POSDCORB’ word is given by
(1) Henry Fayol (2) F. W. Taylor
(3) G. R. Terry (4) Urwick and Gulick

‘POSDCORB’ W2 f&ar 2

(1) 370 A (2) Tho T&Yo IR
(3) o Mo A 4) = @ TR
111. Find the odd from the following
(1) wheél - (2) probability  (3) cluster (4) gossip
Prffias 3 @ fawm 1 9 AR |
(1) e (2 swem (3 T (4) T

Which is the highest form of Democratic Organisation from the following?

112. | o
(2) Line & Staff Organisation

(1) Line Organisation

(3) Functional Organisation (4) Committee Organisation

36
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ﬁw&f@aﬁﬂmﬁ-mm after Awaifs d@reT #1 TEY B7?

(1) ¥@ g (2) @ aun el e
(3) ToraTeT® dmew (4) wfife dmaq
113. Find out the odd from the following
(1) Game Theory (2) Race Theory
(3) Queueing Theory (4) Decision-tree Theory

Refolen 4 @ i 9 = €fn
Ve fem @2 dsfgm (3 wRER (@ Por-an R

114. When the subordinates are disciplined, experienced and qualified, which of the
following leadership styles will be more appropriate?

(1) Autocratic (2) Free-rein (3} Negative

(4} Any style
& JefiTy sgwRa, m@mﬁ,ﬁw&mnmmmmm
3ogeh qf?
(1) Frgw (2) Freiyard (3) HUITeHH (4) @13+ sh
115. Which of the following is not an element of planning?
(1) Objective (2} Policy (3) Principle (4) Stl‘ategy
ﬁw%@aﬁ#ﬂ?—mﬁa}ggﬁﬂaamg?
(1) 3% (2) e (3) fram (4) iy
(171) 37
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116. For selection on non-managerial posts, which of the following is useful?

(1) Patterned interview (2) Depth interview

(3) Non-directive interview (4) Stress interview
ﬂbmnﬁa;w%-g,ﬁn%ﬁmﬂﬁm—mmmﬁm%?
(1) wfmfys @R (2) TE WETEHR

(3) ¥fERm eTeFR (4) wfoeE HIETEHR

117. A promoter of a business enterprise may be

(1) an individual (2) a firm

(3) a company (4) All of the above

% eaRE I0FE F T @ THa

(1) @& (2) @ W (3) Th el (4) sw &t

118. The Purchase Manager talking to Production Manager is a case of

(1) upward communication (2) downward communication

(3) diagonal communication (4) horizontal communication

ﬁmmmmamm@ﬁm%

(1) e FE | (2) R
(4) GHGE T

119. Unity of command is violated under which of the following?

(1) Line Or
(3) [i‘uncthIlal ga'nls

ganisation (2) Line & Staff Organisation

auon (4) Project Organisation

38
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ffafen 4 4 frs orela smdw R o =1 IgeR B 27
(1) @ @A ‘ (2) @ au wHER WA
(3) Tramas wmes (4) RIS T

The method through which railway engine drivers are trained is known as

(1) Sensitivity Training (2) Vestibule Training

(3) Role Playing Training (4) Virtual Training
nﬁﬁﬁa&mh&%ﬂﬁmﬁmmt,@mm%
(1) GagIsier Wi (2) FREYE i

(3) qftw Frater it (4) THTT Nfdngroy

Which of the following is not an economic objective of business?
(1} Generation of employment (2) Earning profit

(3) Market standing (4) Innovation
ﬁw%fbaﬁﬁaﬁ?—mmmmmﬁhmwf%?

(1) IR T Jo (@) LT (3) ol (4) FarER

Trade includes

(1) selling (2) buying

(3) manufacturing (4) buying and s Clling

39
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MR § wfefea R
(3) IAEA FHAT _(4)uﬁamqéaam

123. Which of the following is not a feature of sole proprietorship?

(1) Risk bearing (2) Agreement

(3) Unlimited Lability @ Full control

frofufs § & dv-m e @i w1 og T8 27

(1) fem =& @) Y (3) e TR (4) T FEA

124. ‘Membership by birth’ is related to
(1) Sole Trader  (2) Partnership

(3) Cooperative Undertaking (4) Joint Hindu Family Business

S } weemm wEtad R
mqasaamﬁ% | {2)'8@'@‘&%
(3]mrﬁmﬁ [4)#‘5@5@%%“1@

125 Non-transfcrability of share is a feature of

) Public Company (2) Private Company
(1

) Partnership (4) Holding Company
(3

40
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W I IEEEEES U wE R

(1) safs w5 (2) Fsht #oght
(3) T (4) el wt
126. ‘Equal Voting Rights’ is related to
(1) Cooperative Organisation (2) Public Corporation
(3) Private Company ' (4) Government Company
‘T TR w2 |
(1) Hehrt & @ (2) gt fom @
(3) et w3 (4) TR Ff @

127. Which of the following is not a feature of a company?

(1} Mutual Agency {2) Common Seal
(3) Artificial Person (4) Perpetual Succession
Refefem 3 @ #h-m s 31 qam 76 42
(1) TRt sy (2) ¥ ARy
(3) Ftm =afs (4) WvEa ITaRmnR
128. Which of the following is not a long-term source of businc:sS finance?
(1) Issue of shares (2) Issue of Qtbentyg,
3
(3) Trade credit (4) Financia) 1'1'1stitu,§im.18
(171) 41
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129,

130.

ﬁwﬁrﬁqaﬂﬂaaﬂfmmﬁmﬁﬂwzﬂmmqﬁ%?

(1) 3 = fofea (2) woE & i

(3) =R |E (4) R gem

Which of the following is an unincorporated organisation?

(1) General Partnership (2) Limited Ligbility Partnership
(3) Public Limited Company (4) Private Limited Company
freffea § @ S U SR e 27

(1) G R | (2) @fim i =Tl

(3) W fifide F= (@) wde fafes F=l

Limited Liability Partnership were introduced by which Act of Parliament?
(1) Limited partnership Act, 1907

(2) Limited Liability Partnership Act, 2000

(3) Partnership Act, 2000

(4) Companies Act, 2013 |
maﬁam,m%%ﬂaﬁmﬂ%mmﬁﬂﬁﬁ?

(1) @ et s, 1907
) i e T ST 2008

; 200V

4?2
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131. The major advantage of a franchise is
(1) training and managerial assistance
(2) national recognition
(3) personal ownership
(4) All of the above

TOUFR 1 Iq@ @ R
(1) yew & vervwdi war (2) T A=
(3) it wafre . (4) ST &R
132. ‘Lack of incentive’ is a limitation of
(1) Sole Trading - (2) Partnership
(3) Company (4) Joint Hin-du' Family Business
IO F AvE wE iy 2
(1) T8 =R (2) G
@) #f # () I Reg whar =awm )
133. ‘Open membership’ is a merit of
(I) General Partnership (2) Cooperative Organisation
(3) Private Company (4) Public Company
el FEEA T R |
(1) ¥ EREd (2) gEwl WeT 3y
(3) fit Tt (4) Wit = %
(171) 43
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134. Which of the following is not a principal export document?

(1) Certificate of origin (2) Bill of lading

(3) Mate’s receipt (4) Certificate of inspection

fraffag § ) FH-g1 yum fafa go T 270
(1) 3™ K THOA (2) fo e AfeT
(3) AT Ti] (4) Pl =1 IO

135. The term CIF is used in

(1) intcrnal trade (2) external trade

(3) wholesale trade (4) retail trade

HoamotGo T2 FIF BT B
(1) srateh SR A (2) @ =R A
(3]@353@:‘& (4)wmwwﬁ

136. Who presented the Union Budget 2016-17 on 29th February, 2016 ?

(1) Arun Jaitley (2) Amit Shah

(3) Narendra Modi @) Nitin Gadkari

- 2016_17mmwz9wﬂ2016ﬁ%@&m%m?
n ) Afd@ TR @) = A (4) Fdir Tgwt
(171) "
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Who is the Chairperson of NITI Aayog?

(1) President of India (2) Finance Minister

(3) Prime Minister (4) Defence Minister

e smim &1 ey #4927

(1) Ty (2) e s (3) ST (4) w&n h

The ‘Swachh Bharat Abhiyan’ was launched by Prime Minister on which date?
(1) 26th January (2) 15th August

(3) 10th September (4) 2nd October

‘wmaﬁm’mﬁa&mmg@ﬁﬁmW?
(1) 26 Jah (2) 15 g (3) 10 fiawar (4) 2 M

Name the 29th State of Indig which came into existence in June, 2014

(1) Goa (2) Telangana

(3) Lakshadweep Island (4) Andaman and Nicobar Islands
mﬂzgaimﬁq—m%,a’rtﬁzomﬁwmw

(1) T | (2) I

(3) ey g (4) N=ER T B dy

Who coined the term ‘Green Revolution’ in India?

(1} Manmohan Singh (2) Dr. M. S, Swaminagp,,
(3) Dr. William Gade (4) Do v Kurien
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or@ A ‘g it T Fre wm fen

(1) e fae (2) STo To THo WM
(3) so faferam e @) <o dto T
141. India’s first All Women Bank, ‘Bharatiya Mahila Bank’ was opened in which
year?
WRa & qeen s Afen o, ‘ﬂnﬁﬂﬂﬁwaﬁ’ﬁ'm%aaﬁﬂgﬁ?
(1) 2012 (2) 2013 (3) 2014 (4) 2015

142. Which of the following will be simplified by the proposed Goods and Services
Tax (GST) ?

(1) Direct tax (2) Indirect tax

(3) Salcs tax only (4) Service tax only

mmaﬁam(Gsﬂ%mﬂ%aﬂa—mmmﬂm?

(1) Teaq H (2) HHIH T (3) Rad dw & (@) fus wfdw 29

143. What is the full form of SEZ ?

(1) Special Economic Zone (2) Smart Economic Zone

(3) gpecial Electricity Zone (4) Smart Electronic Zone

wododo (SEZ) T ot e wn A7
(2) WE SF e

(4) " Rt &

46
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Which of the following sectors is contributing maximum in GDP of India?
(1) Agriculture Sector ' (2) Service Sector

(3) Manufacturing Sector (4) Mining Sector
ﬁmmaﬁﬂm-ﬁréam%maﬁmﬁ At ATgH e 7
(1) % 87 (2) 81 @3 (3) Fmin &= (4) TR ¥

When was ‘Make in India’ launched in India?

(1) September 25, 2014 (¢} September 25, 2015
(3) April 1, 2015 (4) January 10, 201§
UG LR R R U B TR

(1) R 25, 2014 (2) R 25, 2015

(3) s 1, 2015 (4) S 10, 2016

When was ‘Digital India’ launched in India?

(1) July 1, 2015 (2) March 1, 2015

(3) January 1, 2016 (4) July-26, 2015

e § ‘Rfew R’ S ¥ ) 7

(1) I 1, 2015 (2) M 1, 2015

(3 ¥ 1, 2016 (4] gk 2, 995
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147.

148.

149.

150.

Which country is not the member of BRICS ? |

(1) Brazil (2) Russia (3) India
- 2w e & ge| TE 87
(1) sefe (2) ¥4 (3) WRd

UNCTAD was established in the year

UNCTAD & wr form ad # g7
(1) 1988 2) 1964 (3) 1956

India’s largest exports are to

(1) USA (2) Japan (3) Russia

mmwﬁmﬁﬂhﬁmim%mﬂ%?

(1) JoTHoTe (2) M (3) ¥

In which sector 100%

(1) Education

(1) e (2) A (@) F™

* kK
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FDI is not allowed in India?
(2) Tourism (3) Agriculture

mﬁﬁq&aﬁlommaﬁ%aﬁﬁ%wwﬁqﬂ%?

(4.) Cuba

(4) ¥

(4) 1960

(4) UK

(4) qo%o

(4) Insurance

(4) ¥
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